
Chapter 5 Section 5.1 Working with Radicals Radical Expressions and 
Equations 

Assignment p.278 #5 – 10, 11, 19, 21 Quiz: Tomorrow! 

 

Name: _________________________               Date: _______________ 

 

Learning Goal 5.1 
Express an entire radical as a simplified mixed radical and vice 
versa.  Identify and order irrational numbers. 

 

Order these numbers least to greatest. 

5,   3√3,   2√6,   √23 

5 = √25 3√3 = ඥ3ଶ × 3 
= ඥ3ଷ 
= √27 

2√6 = ඥ2ଶ × 6 
= √4 × 6 

= √24 
 

√23  <   √24  <   √25  <   √27 

√23  <   2√6  <   5 <   3√3 

 

 

 

 

Simplify radicals and combine like terms. 

a. 2√7 + 13√7 = 15√7 b. √24 − √6 
= ඥ2ଶ × 6 −  √6 
= 2√6 − √6 
= √6 

c. √20𝑥 − 3√45𝑥, 𝑥 ≥ 0 
= ඥ2ଶ × 5 × 𝑥 − 3ඥ3ଶ × 5 × 𝑥 
= 2√5 × 𝑥 − (3 × 3)√5 × 𝑥 
= 2√5𝑥 − 9√5𝑥 
= −7√5𝑥 
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What is the exact length of AB?  

 

 

 

Because ∆𝐴𝑃𝑅 is a right isosceles triangle, it is similar to this triangle, so  

𝐴𝑃

√12
=

1

√2
 

𝐴𝑃

√2ଶ × 3
=

1

√2
 

𝐴𝑃

√6 × 2
=

1

√2
 

𝐴𝑃

√6 × 2
=

√6

√6 × 2
 

𝐴𝑃 =  √6 

 

Because ∆𝐵𝑃𝑅 is a 30 − 60 − 90 triangle, it is similar to this triangle, so 

𝐵𝑃

2√2
=

√3

2
 

𝐵𝑃

2√2
=

√2 × 3

2√2
 

𝐵𝑃

2√2
=

√6

2√2
 

𝐵𝑃 =  √6 

 

𝐴𝐵 =  √6 + √6 

= 2√6 

 

 

 

P 

Q 
R 



Chapter 5 Section 5.1 Working with Radicals Radical Expressions and 
Equations 

Assignment p.278 #5 – 10, 11, 19, 21 Quiz: Tomorrow! 

 


